£25 40 FREZ A AR E I bR — R HMmL

PEARILILA

AR pii - FREAAk| ML
LB S T gz Fngke LT oS TN Fegh (%) (>2)
kAo 512 1,557,414
| |7 #re #(IST) 1 4 27(FRU) 4 2 (TPE) i G
9 |# s (KUL) + % (KCHD) 4 # (TPE) + 12 (KUL) T 7507
3 | & (KIL) % (> a )(NRT) |4 #* (TPE) = 124 (KUL) . 0758
4 |% s (ANO) < B (KIX) 4 # (TPE) ] 68
5| RRe (O R 4 #+ (TPE) 4 % (HKG) £ 7+ (TPE) % e (ANO) &% % A L 2T (IND) I 21,65
6 |% %4in(ANO) 5.4 5 (CRK) 4 (TPE) - 5o
7 |% s (ANO) % % (2 7 )(NRT) £ # (TPE) 4 7,707
g |% waisANe) #12(CGN) % % (HKG) 4 # (TPE) 14 22(DXB) #1 (CGN) 5 29,692
9 |% sdis(ANC) F415 (CGN) % # (HKG) %+ # (TPE) 75 #r(SHT) #2415 (CGN) 1 29,896
10 % % fisANO) #12(CGN) % % (HKG) 4 # (TPE) % % (HKG) #1 (CGN) 1 27,468
11 |% %+5(ANO) 7R (=) 4 # (TPE) % % (HKG) % 2455 (ANC) I 6557
12 [% mdin (ANO) 7R Ci= )N % # (TPE) # 2 (DEL) 1 (CGN) T TREE
13 |% %405 (ANO) % i (HKG) £ # (TPE) 4 8,939
14 |% s (ANC) % i (IKG) + 2 (TPE) % 54255 (ANC) 6 16,515
15 |% &5 (ANO) Fr4e 4 (SIN) 4 # (TPE) 37401 (SIN) % 7.4 55 (ANC) ; 5%
16 |% "dis(ANO) % # (TPE) 7.4 % (CRK) 6 8,616
17 % % #5ANO) 4 # (TPE) % i (HKG) 1 8,939
18 [¥ *drie (ANO) % # (TPE) 4 i# (IKG) 4 # (TP) % %4275 (ANC) £ % % ok 2 #7(IND) 7 )
19 |% s$is(ANC) % # (TPE) #74¢ 5 (SIN) ; 0742
90 |% 25 (ANO) 4 L (HNL) 4 # (TPE) % 3% (HKG) % 74255 (ANC) 4 21,610
91 [|# w5 (ANC) # 5 (PEN) 4 # (TPE) S 13,840
29 |[# #7835 (CVG) % 54275 (ANC) 4 3 (2 2 )(NRT) B iz ")CN) 4 # (TPE) 1 13052
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220 £ RRRZ S B[ E LA — s (XD

PEARILILA

A Bk - FRlrAak| AMmism
LBk — RT3 18y N3 T3 gk w gy $13 13 k= (=x) (~2)
93 % 3 7r3(CV6) % %455 (ANC) H B iz "IN 4 # (TPE) 1 12,578
94 | 2755 (CVG) % % (% 9 )(NRT) F (=) UCN) 4 # (TPE) 3 13,210
95 | % 7R3(CV6) % % (% )(NRT) 4 # (TPE) 1 12,703
26 |% % 7R3R(CVE) L3 (%87 )(NRD) 4 # (TPE) + % (NGO) FE = )N 33 7835 (CV6) 1 26,483
97 |3 % 75 H(CV6) % # (% a )(NRT) 4 # (TPE) # f (iz "H(ICN) 3 3 783 (CV6) 1 25,119
98 |% 2 7R 3(CVG) # = )CeN) 4 # (TPE) 1 12,415
99 | % 7R3(CV6) H B iz )(ICN) 4 # (TPE) &+ & (NGO) H B iz (I 3 3 705 (CV6) 4 26,195
30 |% 2 7R 3(CV6) % F (= ")(ION) 4 # (TPE) H B iz ) (ICN) % 3 785 (CV6) 1 24,831
31 [ 3 7R5CV6) H B iz )(ICN) 4 # (TPE) % # (HKG) 3 3 783 (CV6) 1 26,166
32 |&# (== )(NRT) % # (TPE) 28 2,140
33 |4 (LAX) % # (HKG) 4 # (TPE) % f (= ")) i 457 (LAX) 3 23,580
34 |4 # (HKG) 4 # (TPE) 16 1,058
35 |4 % (KG) 4 # (TPE) * R (KIX) 1 2,54
36 |4 # (HKG) 4 # (TPE) A5 (%2 )(NRD) 6 2,958
37 |exUrK H B iz )(ICN) 4 # (TPE) % 7305 (ANC) it 4575 (LAX) 1 24,920
38 |&9UrK) F R Ci= )N 4 # (TPE) # (=) 717 (LAX) 1 25,503
39 |8 % #rap (SDF) % %355 (ANC) 4 # (TPE) % # (HKG) % (i= ") (ICN) % 3455 (ANC) 2 21,542
40 |%# (TPE) +is (G LO(PVG) 23 765
41 |%# (TPE) + R (KIX) % 7.5 (ANC) 3 4B (ORD) % 7.5 (ANC) < R (KIX) 4 # (TPE) 3 24,372
49 |4 # (TPE) < R (KIX) £ R i (0AK) § se2r(MEM) 7 13,312
43 |% # (TPE) = #r3 #(1ST) 4 8,412
gq | %A (TPED e JOEE T 4 8412
. )(ISL)
45 |42 (TPE) + 1 (KUL) 2 3,204
46 |% # (TPE) + 124 (KUL) #7403 (SIN) = & (GYD) T % F (LU 1 14,020
g7 |E7 (TP + a1 (KUL) #74e 3 (SIN) HE(R 35 5B I # E(LUX) 1 14,405
# ) (DWC)
48 |%# (TPE) + i (KUL) f # (PEN) 4 # (TPE) 1 6,637

45




220 £ RRRZ S 5[ E LA — s (R2)

PEARILILA

A Bk - FRlrAak| AMmism
#gh— gk - 3 3 1% S P TN Fgh= (%) (22)
49 |4 (TPE) &+ & (NGO) % w4255 (ANC) ¥ 4c 8 (ORD) % w4255 (ANC) &+ £ (NGO) 4 7 (TPE) 2 24,528
50 |&# (TPE) ¢+ & (NGO) % 5305 (ANC) 7 4 # (ORD) % 5305 (ANC) % #* (TPE) 1 24,362
51 |4 (TPE) #+ & (NGO) % 3 753 (CV6) 5 12,339
52 |& # (TPE) % 5305 (ANC) I 4 jF =~ (ATL) % 5300 (ANC) = B (KIX) % #* (TPE) 4 26,186
53 |4 CTPE) % 24275 (ANC) T+ (ATL) % 24255 (ANC) £ (TPE) 1 26,024
54 |4 CTPE) % 74255 (ANC) B~ (ATL) @ % (MIA) & % §(SEA) £ (TPE) 2 28,118
55 |4 # (TPE) % 7455 (ANC) 5 4c % (ORD) % 5455 (ANC) « 1% (KIX) £ # (TPE) 2 24,231
56 |+ (TPE) % 54235 (ANC) % 4 8 (ORD) % %4235 (ANC) 4 # (TPE) 6 24,196
57 |4 # (TPE) % 7455 (ANC) 5 4c B (ORD) & 5 § (SEA) £ (TPE) 1 24,648
53 |+ (TPE) % 4200 (ANC) 5+ # (ORD) 4 # (TPE) 4 23,944
59 |4 # (TPE) % 7455 (ANC) i 4575 (LAX) & 5 § (SEA) £ (TPE) 2 22,571
60 |%# (TPE) % 54235 (ANC) e % (JFK) % 7455 (ANC) % (TPE) 9 25,924
61 |+ (TPE) % 7455 (ANC) § =2 (MEM) 6 12,583
62 |+ (TPE) % 54255 (ANC) i £ 27 (DFW) % 34235 (ANC) 4 7 (TPE) 6 24,627
63 |+ (TPE) % 74255 (ANC) i 327 (DFW) & B (SEA) 4 # (TPE) 1 24,637
64 |+ (TPE) 3.4 % (CRK) % % (HKG) % 7,455 (ANC) 1 10,328
65 | (TPE) 1 22(DXB) 4 6,548
66 |E(TPD) HEL(f7 54 5 5 ) i B %45 (FRA) 4 # (TPE) 2 20,818
# ) (DWO)
67 |E# (TP HEL(fP 54 5 5 ) o da 212 (AMS) § 5 (F =45 % )(BKK) [4 » (TPE) 2 23,515
# ) (DWC)
6g |E™ (TPE) B $ 5 5 B B & F (LU 2 13,206
# ) (DWC)
6o |E™ (TPE) EICENEN ) Jh A E(LUX) METTE NN | % (TPE) 1 23,224
¥# ) (DWC) ¥# ) (DWC)
70 |4 # (TPE) I #fF + (ATL) % w4255 (ANC) £ 7 (TPE) 3 25,768
71 |4 # (TPE) # § (BOM) T A #(LUX) % (BOM) 4 # (TPE) 1 23,436
79 |4 # (TPE) %7 (%9 )(NRT) 14 2,180
73 |4 # (TPE) %7 (&1 )(NRT) 744575 (LAX) %7 (a1 )(NRT) 4 # (TPE) 1 21,858
74 |4 # (TPE) # i (HAN) 6 1,654
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220 £ RRRZ S 5[ E LA — s (R3)

PEARILILA

. # £ FEpHraEk| Mz
B 23 1 3. 185 B3 1% ; gLy I3 1N 23 19 (%) (22)
75 |4 # (TPE) % 48 (ORD) 10 11,986
76 |4 #* (TPE) Fo 4= B (ALA) i g4 iF(IST) 1 8,414
77 |4 # (TPE) % 7 (NKG) 4 1,241
78 |£ # (TPE) %475 (LAX) 22 10,917
79 |£# (TPE) & 157 (LAY < I (KIX) 4 # (TPE) 3 21,904
80 |4 # (TPE) 4525 (LAX) & 1/ (SFO) ¢+ & (NGO) 4 # (TPE) 1 21,910
81 |4 (TPE) & 157 (LAX) ¥ 4 .1 (SFO) 4 # (TPE) 4 21,845
82 |% # (TPE) # AP (SGN) 2 2,221
83 |%£# (TPE) # &P 3 (SGN) @ I (HAN) 4 # (TPE) 1 5,066
84 |%# (TPE) £ & (CKG) 8 1,737
85 |& # (TPE) # f (i )H(ICN) % 3.4 55 (ANC) #4525 (LAX) 1 11,346
86 |% # (TPE) % % (HKG) 52 806
87 |%# (TPE) % % (HKG) % f.4in (ANC) * % 783 (CVG) 1 13,946
g8 |% # (TPE) & 5 (F ™37 )(BKK) 8 2,495
89 |%# (TPE) § 8 (&~ % )(BKK)|= 2 (GYD) I & (LU 3 11,769
90 % # (TPE) ¥ 5 (FR~3F)BKK) [ (P 5 5 W g % ELUO 3 12,427
¥ ) (DWC)
91 |%# (TPE) § (R~ F)(BKK) [# &3 (SGN) 4 # (TPE) 2 5,449
99 |4 # (TPE) 1 (SZX) 20 908
93 [4% # (TPE) 72 4e 12 (CGK) f # (PEN) 4 # (TPE) 2 8,415
94 |%# (TPE) & (XMN) 8 328
95 |%# (TPE) #74e 3 (SIN) 16 3,230
9 4 # (TPE) #74e 3t (SIN) HE(FP 85 L E g % ELUO 1 14,918
¥ ) (DWC)
97 |& # (TPE) #r4e 3 (SIN) 5 £ 3 (MNL) 4 2 (TPE) 2 6,779
98 |4 # (TPE) #74e 3 (SIN) 1 33 (PEN) 4 # (TPE) 1 6,964
99 |4 # (TPE) #ra 4] 1 (OVB) & F(LUX) 1 9,556
100 |%# (TPE) # L (NGB) 10 933
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220 £ RRRZ A R E P HM RS (TR)

PEARILILA

A Bk FRlrAak| AMmism
873 T 073 1 T3 3] §73.18 3 (%)
101 |%# (TPE) i (FOC) 5 796
102 |% # (TPE) R 4 (CAN) 2 910
103 |%# (TPE) # 2 (DEL) R A ELUXO #. 2 (DEL) 2 21,350
104 |£# (TPE) 84 (CGO) 2 1,266
105 |% # (TPE) # 5 (PEN) 14 3,188
106 |% # (TPE) 1 # (PEN) @ i (HAN) 4 # (TPE) 1 6,652
107 |& % & (LUX) = & (GYD) 4 # (TPE) 4 10,249
108 & & EFLUD Fe 5% = 46 (ASB) 4 # (TPE) 5 11,608
109 & & FAUD g 8 (#~ 3 #)(BKK) |4 # (TPE) 1 11,673
110 [#®4 L (HNL) < R (KIX) 4 # (TPE) % # (HKG) 3 5 26,075




